

# KANSAS CORPORATION COMMISSION RIGHT September 1999 OIL & GAS CONSERVATION DIVISION RIGHT September 1999 Form Must Be Typed

## WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

		API No. 15 - 159-20141 00-02
Operator: License # 34168  Name: Lyons Salt Company		County: Rice
Name:		County:NE _ NW _ NW Sec. 9 _ Twp. 20 _ S. R. 8 _ ☐ East 🗸 West
City/State/Zip: Lyons, KS 67554		330 feet from S / N (circle one) Line of Section
Purchaser: N/A		990 feet from E / (circle one) Line of Section
Operator Contact Person: Collin Rogers		Footages Calculated from Nearest Outside Section Corner:
Phone: ( <u>620</u> ) <u>257-5626</u>		(circle one) NE SE (NW) SW
Contractor: Name: GeoCore		Lease Name: Habiger Well #: 3
icense: 33859		Field Name: Shumway
Wellsite Geologist: N/A		Producing Formation: NA
Designate Type of Completion:		Elevation: Ground: 1665 est. Kelly Bushing: NA
New Well  Re-Entry	_ Workover	Total Depth: 197 Plug Back Total Depth: Surface
Oil SWD SIOW -	Temp. Abd.	Amount of Surface Pipe Set and Cemented at 252 Feet
Gas ENHR SIGW	<u>.</u>	Multiple Stage Cementing Collar Used? ☐ Yes ✓ No
Dry Other (Core, WSW, Exp	Cathodic, etc)	If yes, show depth setFeet
f Workover/Re-entry: Old Well Info as follows	<b>6</b> :	If Alternate II completion, cement circulated from NA
Operator: American Salt Company		feet depth tosx cmt.
Well Name: Harbiger A-3		Owwo
Original Comp. Date: 9/68 Original	Total Depth: 3570	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)  P+A A1+ I NUL  1-8-09
Deepening Re-perf		Chloride content Fresh ppm Fluid volume NA bbls
Plug Back Surface P	lug Back Total Depth	Dewatering method used Vac truck
Commingled Docket No.		
Dual Completion Docket No.		Location of fluid disposal if hauled offsite:
•		Operator Name: Chase Water Waste System
,		Lease Name: Bear Disposal License No.: 4419
8/18/08 8/19/18 Spud Date or Packed TD	9/19/08  Completion Date or	Quarter Sec. 31 Twp. 19 S. R. 9 East West
Recompletion Date	Recompletion Date	County: Docket No.:
Kansas 67202, within 120 days of the spu Information of side two of this form will be he 107 for confidentiality in excess of 12 months	ud date, recompletion, worko eld confidential for a period of s). One copy of all wireline log	ith the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, over or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. If 12 months if requested in writing and submitted with the form (see rule 82-3-13) and geologist well report shall be attached with this form. ALL CEMENTING Is. Submit CP-111 form with all temporarily abandoned wells.
nerein are complete and correct to the best of	f my knowledge.	Late the oil and gas industry have been fully complied with and the statements  KCC Office Use ONLY
Signature: // // // Cont	10/-5/	N N
Fitle L. VIP - OF ENJATIONS	_ Date:	Letter of Confidentiality Received
Subscribed and sworn to before me this	day of UCTO DOC	If Denied, Yes Date:
00		Wireline Log Received
	00/	Geologist Report Received
Notary Public: WWW A	mge	UIC Distribution
Date Commission Extres:	NOV. 15 2009	

YVONNE LANGE Notary Public - State of Kansas

My Appt, Expires Nov. 15, 2009

KANSAS CORPORATION COMMISSION

Operator Name: Lyons	s Salt Company		Lease I	Name: -	labiger		_ Well #: 3		
Sec. 9 Twp. 20		. 🗌 East 🗹 Wes		Rice					
INSTRUCTIONS: Shot tested, time tool open temperature, fluid reco Electric Wireline Logs	and closed, flowin	g and shut-in pressu s if gas to surface te	res, whether shuest, along with fir	ut-in pre	ssure reached s	tatic level, hydro	static pressure	s, bottom hole	
Drill Stem Tests Taken (Attach Additional S		☐ Yes 📝 N	o	∐ Lo	og Formatio	n (Top), Depth a	nd Datum	Sample	
Samples Sent to Geol	ogical Survey	☐ Yes 🗹 N	o	Name	9		Тор	Datum	
Cores Taken		☐ Yes 🗸 N	i						
Electric Log Run (Submit Copy)		☐ Yes ☑ N	0						
List All E. Logs Run:									
None. Cement in investigative pur Decision made to	poses. Drilled	d out of casing a	at 197'.		Utod				
			SING RECORD set-conductor, sur	Ne face, inte		on, etc.			
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Weigi		Setting Depth	Type of Cement	# Sacks Used	Type and Perce Additives	ent
		ADDITIO	NAL CEMENTIN	ig / squ	EEZE RECORD		· · · · · · · · · · · · · · · · · · ·		
Purpose: Perforate	Depth Top Bottom	Type of Cement	#Sacks I	Used	·····	Type and P	ercent Additives		
Protect Casing ✓ Plug Back TD — Plug Off Zone	surface	common	100		3 sacks of chl	oride			
1 lug On 20116									
Shots Per Foot		ION RECORD - Bridge				ture, Shot, Cement		i Dep	
	NA	Footage of Each Intervi	ai renotateu		(Ann	odin and rand or ma			
						··			
TUBING RECORD	Size	Set At	Packer At		Liner Run	Yes No			
Date of First, Resumerd	Production, SWD or I	Enhr. Producing	g Method	Flowing	J Pumpin	g Gas Lif	t Othe	r (Explain)	
Estimated Production Per 24 Hours	Oil	Bbls. Gas	Mcf	Wate	r Bb	ols. G	as-Oil Ratio	Gravi	ty ·
Disposition of Gas	METHOD OF	COMPLETION	J		Production Interv	val .			
Vented Sold	Used on Lease	Open I	Hole Perf.		ually Comp.	Commingled			

RECEIVED KANSAS CORPORATION COMMISSION

24 S. Lincoln Street P.O. Box 31

Russell, KS 67665-2906

Voice:

(785) 483-3887

Fax:

(785) 483-5566

#### INVOICE

Invoice Number: 116162

invoice Date: Sep 18, 2008

Page. 1

AND DESCRIPTION OF THE PARTY OF

\*Lyons Salt Company 1000 Avenue N Lyons, KS 67554

Habigar 3

Custome (ID 2.4)	Well With the Glerome P.D.	Paymen	Tems - 2
Lyons	- Habeuso #G-	Net 30	
TYTOP LOOK BY	CALL SAME LONG BOARD ON THE SAME OF THE SA	24 : (60 Vice Dile - 2	TO COMPLY THE
KS2	Great Bend	Sep 19, 2008	10/18/08

- L. Quantity	And the Latest of the Australian Control of the Con	A PARTITION AND A STATE OF THE PARTITION AND ADDRESS OF THE PARTITION		Amount 2
100.00	1 -	Class A Common	13.60	1,350.00
	MAT	Chloride	51.50	154.50
103.00	l .	Handling	2.25	231.75
35.00		Mileage 103 sx @.10 per sk per mi	10.30	360.60
,	SER	Old Hole Plug	991.00	991.00
35.00	SER	Mileage Pump Truck	7.50	262.50

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

1 - Mis 08 --

ONLY IF PAID ON OR BEFORE

Oct 18, 2008

	1
Subtotal	3,350.25
Sales Tax	211.07
Total Invoice Amount	3,561.32
Payment/Credit Applied	
TOTAL	1.56 12

KANSAS CORPORATION COMMISSION

OCT 23 2008

CONSERVATION DIVISION WICHITA, KS

24 S. Lincoln Street

P.O. Box 31

Russell, KS 67665-2906

Voice:

(785) 483-3887

Fax:

(785) 483-5566

**。自由10万米**(第一条),

Lyons Salt Company 1000 Avenue N Lyons, KS 67554

	N	V	0	F	C	E
_	_ =	_	_	_	_	•

Invoice Number: 116162

Invoice Date: Sep 18, 2008

Page.

Customerity 4/2/2	WELLINGS HO CLAROOM P.D.	Paymen	(Torns
Lyons	Habeuse #3	Net 30	Days
A PLY JOB LOCAL BIT COLOR	CANAL COMPANY CONTROL OF THE CONTROL	4 : Bervice Date	Dire Date: 12-19
KS2	Great Bend	Sep 19, 2008	10/18/08

	(2) (M) **		Unit Piles 2 42	Amount
100.00	1	Class A Common	13.50	1,350.0
	MAT	Chloride	51.50	164.5
103.00		Handling	2.25	231.7
35.00	•	Mileage 103 sx @.10 per sk per mi	10.30	360.6
	SER	Old Hole Plug	991.00	991.0
35.00	SER	Mileage Pump Truck	7.50	262.8
	3			
		1,		

30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

Dot 18, 4008

ONLY IF PAID ON OR BEFORE

3,350.25 Sales Tax 211.07 Total invoice Amount 3,561.32 Payment/Credit Applied

> RECEIVED KANSAS CORPORATION COMMISSION

> > OCT 23 2008

24 S. Lincoln Street

P.O. Box 31

Russell, KS 67665-2906

Voice:

(785) 483-3887

Fax:

(785) 483-5566

CONTRACTOR OF THE SERVICE AND ADDRESS OF THE PERSON OF THE

**Lyons Salt Company** 1000 Avenue N Lyons, KS 67554

#### INVOICE

1

Invoice Number: 116162

Invoice Date: Sep 18, 2008

Page.

Costomer ID	Will Name # o Glerconter P.D.	Paymen	Tome
Lyons	Habeuse #3	Net 30	
TO THE PROPERTY OF THE PARTY OF	Compile Common C	4 ZService Date	tue bate
KS2	Great Bend	Sep 19, 2008	10/18/08

	Hon -			Amount
100.00		Class A Common	13.50	1,350.00
l .	MAT	Chloride	51.50	154.50
103.00	1	Handling	2.25	231.75
35.00	SER	Mileage 103 sx @.10 per sk per mi	10.30	360.50
1	SER	Old Hole Plug	991.00	991.00
36.00	SER	Mileage Pump Truck	7.50	262.50
			·	
ALL PRICES AL	RE NET, PAYABL	Subtotal Subtotal	\$	3,350.25

30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF



ONLY IF PAID ON OR BEFORE



Subtotal	3,350.25
Sales Tax	211.07
Total invoice Amount	3,561.32
Payment/Credit Applied	
TOTAL	7.56.32

RECEIVED KANSAS CORPORATION COMMISSION

OCT 2 3 2008

24 S. Lincoln Street

P.O. Box 31

Russell, KS 67665-2906

Voice:

(785) 483-3887

Fax:

(785) 483-5566

注明IIIDI ABOX 中央企业的企业的企业工作的企业

Lyons Salt Company 1000 Avenue N Lyons, KS 67554

### **INVOICE**

1

7.50

Invoice Number: 116162

Invoice Date: Sep 18, 2008

Page.

Custo	perio 🎎 🚧	Wall Wattook of Clastonia P.D.	Payment	Topns *->-
Lyo	ns	Habeuse #3	Net 30 I	Dave
E UZIOD LO	all United States	Warne Board on Mary 1997	ervice Date:	Due Date
KS	2	Great Bend 9	Sep 19, 2008	10/18/08
- EQuantity	Selem Mile	Walk Application was a second	Unit Phée Di	Amount
100.00	MAT	Class A Common	13.50	1,350.00
3.00	MAT	Chloride	51.50	154.50
103.00	SER	Handling	2.25	231.75
35.00	SER	Mileage 103 sx @.10 per sk per mi	10.30	360.50
1.00	SER	Old Hole Plug	991,00	991.00

Mileage Pump Truck

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

35.00 SER

原列的第一〇名一个

ONLY IF PAID ON OR BEFORE

Subtotal	3,350.25
Sales Tax	211.07
Total Invoice Amount	3,581,32
Payment/Credit Applied	
TOTAL	1,561:32

RECEIVED KANSAS CORPORATION COMMISSION

262.50

OCT 23 2008